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HE# | WBAE | HE% | WARAE | HEH | NSAE | HF% | KEAE
12 472 483 (25) 99 125 (10) 44 39 (b) 6 6
17 665 681 (41) 103 120 (6) 67 67 (b) 4 4 (1)
19 664 634 (42) 87 92 (6) 67 64 (3) ) 4 (1)
20 750 708 (53) 111 112 (9) 73 68 (b) 8 8 (1)
21 744 696 (56) 112 112 (8) 89 84 (b) 3 2 (1)
22 777 757 (42) 93 104 (6) 89 88 (1) 14 17
23 877 817 (85) 129 137 (13) 97 92 (7) ) 3 (3)
24 863 817 (65) 118 126 (8) 98 93 (b) 4 4 (1)
25 916 887 (45) 110 122 (3) 84 83 (1) 7 7
26 929 883 (61) 102 105 (11) 101 95 (6) 8 8
27 896 846 (55) 99 98 (6) 107 101 (6) ) 4 (1)
£ % = i) = 5 z O fh
Hept | INRAE | HEH | WRAE | HeHK | NBAE
12 8 8 292 284 (8) 23 21 (2)
17 8 8 408 406 (27) 75 76 (2)
19 11 8 (3) 432 405 (27) 62 61 (2)
20 10 6 (4) 495 461 (34) 53 53
21 8 5 (3) 476 438 (38) 56 55 (1)
22 9 9 521 489 (34) 51 50 (1)
23 10 9 (1) 567 509 (59) 69 67 (2)
24 10 6 (4) 575 530 (47) 58 58
2b 14 11 (3) 634 596 (38) 67 68
26 13 8 (b) 633 595 (39) 72 72
27 6 3 (3) 607 572 (35) 72 68 (4)
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HEpH | WARAE | HEH% | NRAE | HE%x [ WEBAE | HEgH | NBAE
TH27ETA 90 91 10 11 8 8 0 0
28 78 69 (9) 4 2 (2) 11 10 (1) 0 0
38 75 71 (4) 10 9 (1) 8 8 0 0
4A 63 59 (4) 5 3 (2) 9 9 0 0
58 77 75 (3) 9 10 9 9 1 1
68 71 67 (5) 7 8 6 5 (1) 1 1
78 80 79 (1) 8 8 7 7 0 0
88 80 69 (11) 6 5 (1) 11 11 1 0 (1)
98 84 75 (9) 10 10 12 10 (2) 0 0
108 60 57 (3) 11 11 10 9 (1) 1 1
118 65 63 (2) 8 8 (1) 7 7 1 1
128 73 71 (4) 11 13 9 8 (1) 0 0
= % B B = 5 Z O fh
Hept | IWRAE | W% | WRAE | HE% | KBAE
2641 A 0 0 65 65 7 7
28 0 0 61 55 (6) 2 2
38 1 1 51 48 (3) 5 5
47 0 0 47 45 (2) 2 2
58 0 0 51 49 (2) 7 6 (1)
68 0 0 53 49 (4) 4 4
78 2 1 (1) 55 55 8 8
88 0 0 50 43 (7) 12 10 (2)
98 2 0 (2) 50 46 (4) 10 9 (1)
108 0 0 35 33 (2) 3 3
1A 1 1 41 39 (2) 7 7
128 0 0 48 45 (3) 5 5
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